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Assessed Outcomes

NS4.3 Percentage operations
PAS4.3 Uses the algebraic symbol system to simplify algebraic
expressions :

Directions to Candidates

e Show all working on the paper
e Calculators may be used

e Good Luck!!




C{)- 10?"0

b) 2x—2y

b)¥46% ¢) 50% d) 54%
| 2. As a decimal, 30% can be written as:

4 - ) im
a)0.3 b) 0.03 c) 3.0 d) 0.003 -
3. % as a percentage is: - g\
A , Im
C() 5% b) 10% V C) 200/0 d) 50%

4. $40 increased by 8% is: T
m /
a) $43.20 b) $48.00 ¢) $50.00 " d) $38.00 S
5. Simplify: a+a+2a+b+b+3b=
lm /
4L ps a4 2 ' 347.3
aya +b by a® +2a+b" +3b c) 4a+5b d) 2a’3b
6 Simplify: | axax2axbxbx3b=
. ' lm /
a) 4ax5b b) 2a° x3b° ¢y 6a°b’ d) 9ab -
7. Simplify: —3x+8y—5x—0y= 2N
a) 8x+14y c) 8x—2y d) —8x+2y ;

R R
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. Complete the sentences below by choosing the correct words:

Commission, /%9;’* unlike,  discount au#'—ei_ieﬂe-.hyﬂaéﬂea’, coefficient © 3m

The term PERCENT means ’ S

In algebra, only ' terms can be added or subtracted

e A e is a reduction in the price of anitem.

| 2. Find 12% of $950 T — I
Ay
3. Simplify 10p+4p-Tp= o
/ 1m
4. simplify s g - <
. olmpli Yi ,5,5(13' | l/_.x - -\.\!;
I -
5. Fill in the missing terms: SN
_ . 6m |
a) 6% | =-30c . d) 42k + =7k
by 8pg x|~ | =56p'qr o | 1 x3xy=21x"yz
o) 3gh+| | =15gh n L_1==18d%.




6. Write the following in ascending order

5.6, 639, 6.5%, 0.55, 0.055, 115%

7. The school shot put record is 19m. If Erin threw a distance of 11.6m, what

bercentage of the record distance did she throw?

- 2me

discount sale. What was the percentage discount?

| 8. The price of a Teleyision set was reduced from $800 o $700 as part of a

&

S 2m

°. >$26OO is to be split between 3 employees: Matt 20%, Bess 35% and Karen

receives the rest. Find the amount:

i) Matt will receive: ii) Karen will receive:




10. Alan purchased a computer for $3400 and later sold it for $1000. - | Cam )

a) How much money did Alan lose?

b) Calculate his loss as a percentage of the cost price, correct to 1 decimal place

g 30% of his money off groceries, a man had $49 left. How much did

11. After spendin

the groceries cost?

TR N |
12, simplify (~37) (—2n)% (=5m) n=

J

. 5
13 simplifyp 96¢f "8 + Sefgzif% 3g =

END OF PAPER ©



a) 10% Qyer ¢) 50% d) 54%
1 2. As a decimal, 30% can be written as: \ J
. , , im
a)0.3 b) 0.03 ¢) 3.0 d) 0.003
3. W as a percentage is: e
a) 5% b) 10% @80\0 d) 50%
4, $40 increased by 8% is: 3
Im
(a) $43.20 b) $48.00 c) $50.00 " d) $38.00
5. Simplify: a+a+2a+b+b+3b= @
Im /
o at+b’ b) a® +2a+b* +3b (4a+sb 4y 2a°3b° |
6. Simplify: axax2axbxbx3b= @
a) 4ax5b b) 2a° x3b° @,mau% d) 9ab
7. simplify: —3x+8y—5x—0y= @
m
a) 8x+14y b) 2x =2y ¢) 8x—2y @-8x+2y |

8. Complete the sentences below by choosing the correct words:

Commission, e unlike, — thscount outof-onehundred, coefficient

« The term PERCENT means Out Ot one wondye c

» Inalgebra, only Ued
. A_cdlugcoyny

terms can be added or subtracted

is a reduction in the price of an item.

1. Express 24% as a fraction in sim

3m

0% IS PR -3 ®
Ho* ¢ <o’ 26

7
2. Find 12% of $950 L .
i Im
o0 *ASo=H\14 7

3. Simplify 10p+4p-Tp=
= Mb@.\.l:\u . >

nf_f..,u

. .w\H\m@ﬁml
S~ 30
i "3

5. Fill in the missing terms:

4 B»PE =7k

b) WNQQ Xjﬂﬁ .HmmﬁmQN\. NV I\_H.\ qun.w\ HNHHNV\N

a) 6x[~S¢| =-30¢

o 3gh+ngn| =158% n L% ==18d%,

; a




6. Write the following in ascending oam«_

4. o
5%, ¢ ﬁe, %mﬁ 0.55, %mw

115%

a@@mmﬂ €, mf ofm, mm\ ,:w\. A

\/\ \\~\

"

7. The school shot put record is 19m. If Erin threw a distance of 11.6m, what

percentage of the record distance did she throw?

:6

og x\00 -6l

The 2?@3#9@@ of +nb reCorch ts 6l

£

| 8. The price of a television set was reduced from $800 to $700 as part of a

discount sale. What was the vQ.Rimmm discount?
“1o¢ Q@
=00 XICO=¢1-5

D 100 - F1S

L

12.57. /

!
The, %,ii?% A Caunt b 387,

2

9. wmmoo is to be split Umjamm: 3 employees: Matt 20%, Bess 35% and Karen
receives the rest. Find the amount:

i) Matt will receive: i) Karen will receive:

w-wo % 2600 w\ow w2 00 =AUo
T =38sJo cao t.0 51430
Madt receiu-es 21600~ (420
. [Saco pd _&l1T70
\ coven oL vES

o/

10. Alan purchased a compufer for $3400 and later sold it for $1000.

|
8 _\_os much money did Alan lose? \ .
2400- (000 = 82400, pad 1ogk §2400.
b) D@%E&m his loss as a percentage of the cost price, correct fo 1 decimal place \
2906 . .
0\\46;\ K EQO .\JO«ON \ @
{
bis  L0SS DY OPNAFIAR was 6.
11. After spending 307% 30% of his money on m1anm1_mm a man had $49 left. How much did :
the groceries cost? 4o
40 100+ uo 467 349 - Fox\007§10
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END OF PAPER ©



